s E,%E\%
WEAEYN=E=

- BE= guuLﬁﬁ%]L%

|3_
IIIIII HTE%

125] HER 2025.06.16

LImANBBERAE  TEFMTEES -
2EBMYBEAERZERAGTEES -
3HE -
_ -BE=ZEmiEEERER
1LHREEPIRGIERLH « B - =i @Eﬂ)%%%%ﬁfﬁﬂﬁ@f*?ﬁm%%
L - B ABEEma KE  mE T 2=258M2H0EER -
2LBE=SEm
FREEHNEL BB BESEPRNELEEFP -
FRERSE . B—EBAhEE g BPNZ=E8:00~12:00 + 13:30~17:00 -
5= &F9529:00~13:00 * 13:30~16:30 °
SEEIERIEAMEE - 9:00~12:00 ~ 13:30~17:30E 2B A ELERTMNZFEE -
JAEREEm/ HEERE SmBEyEsamAlRtIEAEESE - EHT
%Eﬁ%%‘“ °
E N E%X EID EIIII E
15 S8R hX R IR B | B BRRERE=
1| BREEIRL S (RAR) BT R Si237cc B | 50 | 2 %6(48 )
2| BRI 75 (BHIK) EREEE S#250cc H | 50 | 2 %6(48 )
3| DRI 5 (RAR) ZZZHMBIRIKRBES & f#220cc # | 70 | 48HE(2F)
4| OBR9EE 5 (RER) ZZHMB EXBCS  [EfE220cc # | 105 | 48HE(2FR)
5| 91 = #ME 5 (RAS CERE R R S=1#250c.c. | f# | 50 | 2 F(48 1)
6| 9t = AL 5 (RAER) SREEYERRS [Ef250cc T | 50 | 2 %5(48 {#)
7EEESHEIIEECT AR) | = Ditplus(fy) (=800 A5e | f# | 700 6 i
8BS MITEEL S B(OR) | BEREZRERERD) [BE56 A% | € | 27 [2£5(100 8)
o| ILBEERMEI (M) | TN =800 A5e | f# | 550 6 fE
10 LBEREHERH(HR) | BREZSHM)) EBE57 A% | B8 | 40 |2 53100 &)
1 B EEESHLERs ) 2 e BENM) \gas | s 1050 288
12| BEASHRER S T NATIB 16(R) [E 1246 cc tE | 60 | 2 %a(48 f#)
13| BEAREERER S = NATI70R) =250 cc t | 60 | 2 %5(48 f#)
14| SEREERAER S @ JAL200/R) =#250 cc i# | 60 | 2 #8(48 &)
15| BEAEME SRERS | £2REE =237 cc HE | 85 | 2 %a(48 )




JE | h A& B EE8| ERE=
16 | RABYIETBC S (RES) | 560m =1#250 cc i | 80 | 2 8(48 ##)
17 | /NSRBI (RER) | /NELRR =1#220 cc i | 60 | 2 F8(48 ##)
18 | EHBACTT1.5 R 18 =1#250 cc e | 140 | 2 F8(48 ##)
19 | FEHEALT51.6 HEEES) =125 ce M| 60 | 48FR(2FR)
20 | =HERC 1.6 FAEEGEE) =125 ce M| 60 | 48FR(2FR)
21| HEFRBRAERRAC B AR =250 cc # | 85 | 2 #8(48 fi&)
22 | EPRIRIRARIS &R SERENE FRIE =250 cc i | 65 | 2 #8(48 fi&)
23 | iR D BURARAC 5 BB E(SR)  [E#200 cc i | 80 | 2 #(48 f#)
24 | 1EIREBIE B R ARAC 5 SERESEE (R) = 1#237 cc i | 85 | 2 F6(48 1#)
25| (REBBRARAL S B 1 An =237 cc i | 100 | 2 %6(48 #)
26 | {REEEKREC — AR =800 A% | 1 | 680 6 i
27 | BRERAEECH oM S1#237 cc & | 100 | 2 F&(48 ##)
28 | TEEERL TS =513 =400 A58 | # |1000 6 i
29 | TRERRC 3 K %400 A% | 1# | 935 6 i
30| TTERL S BlRiE g6 % | 8 | 29| 28128)
31| FEERC S BHERCR) = 1#220 cc i | 200 | 2 F6(48 ##)

Y N== Ay L&
P mmrmnoes e SE2e | | e0| 0
33| BOEIRM A HRE 824 A% | B | 290 | 2 & (60 B2)
34 | 7T EEARE NG (B)) EIR-REE()VE) BELENAT| B | 175 | 4 248 B)
35 | 7 e BARE G (K1) EI-REE(KE) =1#480 ~5e | A2 | 6800 2 48
36 | (BER@BANENK s HFE45 1 5% | B | 23 |5%(100 B2)
37| BE—=28% = & L& (10) =200 272 | 1 | 320 6 i
38| = EZ 1 5@@%@%& =523 @E@ = | 760 6ar

R a8 B)(E8) el AF

BEz

39 | e E A iz BEREBEER| 554 BFHE = | 760 .

Z(XR) =




